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VEDIC ARITHMETIC 

Section - 7  
 Parsankhyan  izl³~[;ku 

    Transcendental Compactified State Sathapatya Value   

 

Lesson -19     Formulation Parsankhyan  izl³~[;ku 
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Introductory  

For to be parallel with the reach of knowledge and 

enlightenment of formulation Parsankhyan  izl³~[;ku one 

shall be parallel with Sutras 4.29 of Patanjal Yogadarshan : 

izl³~[;kus·I;dqlhnL; loZFkk foosd[;krs/kZeZes?k% lekf/k%AA 4.29AA 

  

1. Formulation Parsankhyan  izl³~[;ku  

For full import of ‘word Formulation’, one is to be 

parallel with letterwise sequential composition of the 

word.  
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 Each letter of the word has it’s specific placement 

value and features of the Devanagari alphabet, 

designated as the TCV value. 

 Furhter the TCV value of the word, as summation 

value of TCV values of the letters of the word, sums up 

a TCV values of a word, which has ten folds, designated 

as, being designated and tabulated, in reference to 

formulation Parsankhyan  izl³~[;ku] Tables Nos. 1 and 

2 hereunder : 

Parsankhyan  Parsankhyan 
Table - 1  Table - 2  

Letters TCV Values  Ten Folds of TCV of  

C o  C 1 C 2 C 3  izl³~[;ku 

S.N Letter TCV Total   C o  C 1 C 2 C 3 

1 i~ 5 5  S.N Fold Value Total  

2  z 1 6  1 W 1 1 

3 v 1 7  2 S 4 5 

4 l~ 3 10  3 L 11 16 

5 v 1 11  4 T 30 46 

6 ³~ 5 16  5 T T 104 150 

7 [k~ 2 18  6 F F 242 392 

8 ;~ 1 19  7 F 121 513 

9 vk 2 21  8 H 98 611 

10 u~ 8 29  9 R 260 871 

11 v 1 30  10 S R 550 1421 
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2. Simple Rendering of Formulation Parsankhyan  

izl³~[;ku  

The Simple Rendering of Formulation Parsankhyan 

comes to be : 

izl³~[;ku = ftrus rÙo ijLij foy{k.k Lo:iokys gSa; 
mudk ;Fkkdze fopkj djuk izla[;ku dgykrk gSA 

Parsankhyan/izla[;ku means the Yathakram 

Vichar/;Fkkdze fopkj sequential thought of Praspar 

Vilakshan Swaroop/ijLij foy{k.k Lo:i 

distinguishing values and features of all distinct 

Tattav/rÙo Elements.   

3.  Sathapatya of Formulations of Shaloka 4.29  

1-  Formumation izl³~[;ku  

 TCV (izl³~[;ku) =30=H8 

2- Formumation Vdqlhn 

 TCV (vdqlhn) =19=h5 

3- Formumation foosd[;kfr 

TCV (foosd[;kfr) =24+11=35=h9  

4- Formumation /kZeZes?k%  

TCV (/kZeZes?k%) =20+20=40=D12  

Note :- TCV (foosd[;kfr)+TCV (/kZeZes?k%) 

  = 40+35 

  =TCV (,dkf/kdsu)+ TCV (iwoZu)  

5- Formulation lekf/k 

  TCV  (lekf/k)=24=D8  

  TCV  (lekf/k%)=37=H5 +h5 
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  One shall sit comfortably and to permit the 

transcending mind to glimpse and imbibe the Sathapatya 

features and values of above formulations of text of Sutras 

4.29 

  One shall further continuously remain in prolonged 

sitting of Trans and to sequentially be parallel with the 

Sathapatya of Sutras 4.30 to 4.34 to blissfully parallel with the 

attainment reach of Patanjal Yogdarshan.  

Sutra 4.30 

rr% Dys’kdeZfuo`fr%AA30AA 

Formulations 

(1) Dys’k] TCV  (Dys’k)=15=h4   

(2) deZ] TCV  (deZ )= H4 

(3) fuo`fr]  TCV  (fuo`fr) =31 h8  

Sutra 4.31 

rnk lokZoj.keykisrL; KkuL;Kur;TKs;eYie~AA31AA 

Formulations 

(4) vkoZj.k] TCV  (lokZoj.k)= 22=H6 

(5) ey] TCV  (ey)=16=D6 

(6) Kku] TCV  (Kku)=h 5
1

2
 

(7) Ks;]  TCV  (Ks;)=17=h 4
1

2
 

Sutra 4.32 

rr% d`rkFkkZuka ifj.kkedzelekfIrxqZ.kkuke~AA32AA 

Formulations 

(8) d`rkFkZ] TCV  (d`rkFkZ)=18=H5   
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(9) ifj.kke] TCV  (ifj.kke)=30= H8  

(10) dze lekfIr] TCV  (dze lekfIr)=13+26= 39=h10 

(11) xq.k] TCV  (xq.k)=14=H4  

Sutra 4.33 

{k.kizfr;ksxh ifj.kkekijkUrfuxzkZá% dze%AA33AA 

Formulations 

(12) {k.k] TCV  ({k.k)=16=D6   

(13) izfr;ksxh] TCV  (izfr;ksxh)=28=D9   

(14) ifj.kke] TCV  (izfr;ksxh)=30=H8   

(15) fuxzkZá% ]TCV  (fuxzkZá%)=29=h 7
1

2
 

(16) dze%] ]TCV  (fuxzkZá%)= h 3
1

2
 

Sutra 4.34 

iq:"kkFkZ’kwU;kuka xq.kkuka izfrizlo% dSoY;a Lo:iizfr"Bk ok 

fpfr’kfäfjfrAA34AA 

Formulations 

(17) iq:"kkFkZ] TCV  (iq:"kkFkZ)=33=h 8
1

2
   

(18) ’kwU;] TCV  (’kwU;)=18=H5 

(19) xq.k] TCV  (’kwU;)=14=H4 

(20) izfrizlo%] TCV  (izfrizlo%)=32=D10 

(21) dSoY;] TCV  (dSoY;)=24=D8 

(22) Lo:i] TCV  (Lo:i)=26=H7 

(23) izfr"Bk] TCV  (izfr"Bk)=25= h 6
1

2
 

(24) fpfr] TCV  (izfr"Bk)=14= H10 

(25) ’kfä] TCV  (’kfä)=10= H3 

(26) bfr] TCV  (bfr)=8= D4 


